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we cdw bound the cnov in this way

the rest of the analysis is uhchguped .



Interval queues
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�2� error is additive ?
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There
du ntnztnqt . . . < 2n dyadic intervals and

thus many counters
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When

FE 's) t=zs is execute
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we also performFayt= Zs for each interval such that a tie }

( we change by w counters at most )

0¥ Given a query Fxy
,

the latter can be expressed as the sum

of { 2GW dyadic intervals ( indeed
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if there were 5 consecutive

intern 's on the same level
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then we could replace two  of them

by an interval of double site on the upper level )
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We use count . min sketches on the counters Fab was # s
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�1� cost is 0 (G) time

�2� error is bounded
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Define Xsdp as the garbage for Fab
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The rest is identical
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Note Using the individual errors on eacw #? does not work ?
That  is
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Pr # Yi > EHFIDdoes not implythe above result


